N of reco track vs dxy(PV) | N of associated (recoToSim) tracks vs dxy(PV) N of associated (recoToSim) looper tracks vs dxy(PV)

4] %] %] F ]
X x B4 F x - -

g g g . s g
s 510 £ 10°F 5
[ [} F Q
10 10°F H
E =1
F 1=}

10 10°F

10? 10°F

10F

1k 1k
i<} S 7 k=] i<}
T 3 g 2F-- 3
o 14 o o
15 -
—25-20-15-10 5 0 5 10 15 20 25 —25 20 15 10 5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10 —5 0 5 10 15 20 25
trac v(PV track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
a— ”" e coh
D uc:{jruiﬁalﬁyfesf %9
[Nof reco trtackvsd ——— D ug—truthsimupto I'a er epcohll o
2 2 2 g
£ £10° £ g
g 2 g
=) 8 8
10* s
=3
k=]
10°
10?
10
=] ] =] ]
& & 19 & &
A ) redd M T Lt
-1-0.8-0.6-0. 4—0 20 02040608 1 ~1-0.8-0.6-0. 4—0 20 0.2040. 6 0.8 1 O'—l—O.S—O.b—OA—O.Z 0 02040608 1
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
[N of associated (recoTosim) tracks vs dz(PV) ] N of associated (1ecoToSim) looper racks vs dz(PV) |
%] %] [4] ]
] ] s S
g £10° £ g
[ g S
£ s 8
10* =
=1
k=]

i
o
W

=
o
S

10k :
o o w9 o o -t o
K 3 - o 8 ... + o I
& & o +m...,..,...-..'~ ] &
0.95| 1.5F--- }Hi-w
0.95t 1 : i 0 [l | AN i oot et i i i
=30 -20 -10 0 10 20 30 '—930 -20 -10 0 10 20 30 -30 —20 —10 0 10 20 30 - 10 20
track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper tracks vs dz(PV) |
2 L 2 2
] S S S
g 8 g 8
[ [} Q
E 8 i
=
8 10F
1
=] e =] Q . . .
& & & & : .
»-4,11, O AR LA
*“*ﬁm .#H- I S D ORI AUSUUR Y I e
Ead. S o H H H
0.5 -1 —0 5 0 0. 5 l -1 -0.5 0 0.5 1

.5
track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)



	Contents
	Page 1


